TOWNSHIP OF LONG HILL RESOLUTION 22-195

APPROVING A CHANGE ORDER TO FISCHER CONTRACTING, INC. FOR THE RIVER ROAD IMPROVEMENT PROJECT

WHEREAS, the Township, by Resolution 21-053, adopted February 10, 2021, awarded a contract to Fischer Contracting, Inc. ("Fischer") for the construction of the River Road Improvement Project in accordance with its January 13, 2021 bid in the amount of \$119,609.43; and

WHEREAS, during the course of construction, modifications to the drainage system were determined to be necessary to mitigate stormwater runoff bypassing an undersized inlet; and

WHEREAS, the needed drainage modification resulted in the construction of a new stormwater inlet, with extended piping to the existing drainage collection system; and

WHEREAS, these modifications included changes to quantities as outlined on the attached final quantities sheet; and

WHEREAS, these modifications resulted in an increase in the cost of the project of \$17,975.88; and

WHEREAS, the cost increases are eligible for reimbursement through the NJDOT Municipal Aid Grant awarded to the Township for this project; and

WHEREAS, Fischer has satisfactorily completed the work associated with the contract; and a

WHEREAS, acceptance of the final quantities for this project will enable close-out of the project with the NJDOT, and reimbursement of expenditures through the grant; and

WHEREAS, the Township Engineer finds the changes are justifiable; and

WHEREAS, Township Administrator Nancy Malool recommends that these changes be accepted.

NOW, THEREFORE, BE IT RESOLVED by the Township Committee of the Township of Long Hill in the County of Morris, State of New Jersey, and the change order requested by Fischer is hereby approved and will be charged to the following line item appropriation of the official Township budget: C04-6120-0000-4-02190.

INTRODUCED	SECONDED	COMMITTEE	AYE	NAY	ABSTAIN	ABSENT
		DORSI	X			
X		LAVENDER	Х			
		PISERCHIA	Х			
	Х	RAE	Х			
		VERLEZZA	X			

I, Megan Phillips, Township Clerk of the Township of Long Hill, County of Morris, State of New Jersey, hereby certify this to be a true copy of a resolution adopted by the Township Committee July 13, 2022.

Megan Phillips, RMC

Township Clerk

Certification of Funds

I, Randy Bahr, Chief Financial Officer of the Township of Long Hill, do hereby certify that the funds will be available in account C04-6120-0000-4-02190.

Randy Bahr, Chief Financial Officer

Dated: July 13, 2022

Ferriero Engineering, Inc.

180 Main Street • P.O. Box 571 Chester, NJ 07930

Tele: (908) 879-6209 Fax: (908) 879-6597

TO: Township of Long Hill 915 Valley Road Gillette, NJ

LETTER OF TRANSMITTAL

Date:	2/8/2022	Job No: 20LH104	
Attent	ion: Megan Phil	lips, RMC	
Re:	River Road Imp	rovements Project	
	Township of Lo	ong Hill	
Sabatta	Morris County,	NJ	

Via: Hand Delivery on 2/9/2022						
We are sending you: Attached Under separate cover via the following:						
Plans Prints Descript Copy of Letter Application	tion Specifications Other information					
Copies Date No. NJDOT SA-1 Change	Description Order No. 1 (Final)					
THESE ARE TRANSMITTED as checked below:						
For approval Approved as submitted	Resubmit copies for approval					
For your use Approved as noted	Returned for corrections					
As requested For review and comment						
Remarks: Please have the Mayor sign and date all four (4) documents in the space labeled "Presiding Officer" and return them all to my attention.						
cc:	Signed: Rich Quamme					

Project	River Road Improvements	
Municipality	Long Hill Township	
County	Morris	
Contractor	Fischer Construction Inc	

In accordance with the project Supplementary Specification, the following are changes in the contract. Location and Reason for Change (Attach additional sheets if required)

Item No.	<u>Description</u>	Quantity (+/-)	Unit Price	<u>Amount</u>
7	HMA Pavement Repair 6" Depth	-50 SY	\$35.00/SY	\$1,750.00
8	HMA Milling, 3" or less	+390 SY	\$3.00/SY	\$1,170.00
10	HMA 9.5M64 Surface	+37.17 tons	\$60.00/ton	\$2,230.20
11	Reset Inlet Type A w/ existing casting Construct Inlet Type A, using	-3 Units	\$300.00/Unit	\$900.00
13	new casting	+1 Unit	\$1,500.00/Unit	\$1,500.00
15	Reset Existing Casting (Standard Manhole)	-8 Units	\$100.00/Unit	\$800.00
16	Concrete Handicapped Ramp	-3 SY	\$100.00/SY	\$300.00
17	Detectable Warning Surface	+2 SF	\$35.00/SF	\$70.00
20	Traffic Marking Lines 24", Thermoplastic	+12 SF	\$23.00/SF	\$276.00
21	Traffic Stripes 4", Yellow	-418 LF	\$0.48/LF	\$200.64
22	Traffic Stripes 6", White	+272 LF	\$0.64/LF	\$174.08
24	Asphalt Price Adjustment	+5564.48 Dol	\$1.00 Dol	\$5,564.48
25	Fuel Price Adjustment	+2653.07 Dol	\$1.00 Dol	\$2,653.07
S1	12" HDPE Pipe	40 LF	\$130.00/LF	\$5,200.00
S2	Police Officers	I LS	\$3,088.69	\$3,088.69
mount of Original Conditional Condition of Conditional Condition of Co	on Change		Extra Supplemental Reduction Total Change	\$ 13,637.83 \$ 8,288.69 \$ 3,950.64 \$ 17,975.88
6 Change in Contract (+) Increase or (-) Decr	rease] +1.15 9	6	·	***************************************
(Engineer)	2/3/12 (Date)	A	pproved:(District Ma	nager) (Date)
(Presiding Off	7/3/22		(Bureau of Lo	ocal Aid)
Jonathan F	• • • • • • • • • • • • • • • • • • • •			

(Submit four (4) copies to the Local Aid District Office l

(Contractor)

(Date)

River Road Improvements
Long Hill Township
Morris
Fischer Construction Inc

In accordance with the project Supplementary Specification, the following are changes in the contract. Location and Reason for Change (Attach additional sheets if required)

2/8/2022 (Date)

Item No.	Description	Quantity (+/-	<u>Unit Price</u>	<u>Amount</u>
7	HMA Pavement Repair 6" Depth	-50 SY	\$35.00/SY	\$1,750.00
8	HMA Milling, 3" or less	+390 SY	\$3.00/SY	\$1,170.00
10	HMA 9.5M64 Surface Reset Inlet Type A w/	+37.17 tons	\$60.00/ton	\$2,230.20
11	existing casting Construct Inlet Type A, using	-3 Units	\$300.00/Unit	\$900.00
13	new casting Reset Existing Casting	+1 Unit	\$1,500.00/Unit	\$1,500.00
15	(Standard Manhole)	-8 Units	\$100.00/Unit	\$800.00
16	Concrete Handicapped Ramp	-3 SY	\$100.00/SY	\$300.00
17	Detectable Warning Surface Traffic Marking Lines 24",	+2 SF	\$35.00/SF	\$70.00
20	Thermoplastic	+12 SF	\$23.00/SF	\$276.00
21	Traffic Stripes 4", Yellow	-418 LF	\$0.48/LF	\$200.64
22	Traffic Stripes 6", White	+272 LF	\$0.64/LF	\$174.08
24	Asphalt Price Adjustment	+5564.48 Dol	\$1.00 Dol	\$5,564.48
25	Fuel Price Adjustment	+2653.07 Dol	\$1.00 Dol	\$2,653.07
SI	12" HDPE Pipe	40 LF	\$130.00/LF	\$5,200.00
S2	Police Officers	1 LS	\$3,088.69	\$3,088.69
Amount of Original Contract Adjusted amount Based on Orders Final,,,	Change		Extra Supplemental Reduction Total Change	\$ <u>13,637.83</u> \$ <u>8,288.69</u> \$ <u>3,950.64</u> \$ <u>17,975.88</u>
(+) Increase or (-) Decrease	۱ <u>+۱.15</u> % حداله اح		approved:	
(Presiding Officer)	(Date) 7/13/22 (Date)		(District Mar (Bureau of Loc	

(Submit four (4) copies to the Local Aid District Office !

Project	River Road Improvements
Municipality	Long Hill Township
County	Morris
Contractor	Fischer Construction Inc

In accordance with the project Supplementary Specification, the following are changes in the contract. Location and Reason for Change (Attach additional sheets if required)

Item No.	Description	Quantity (+/-)	Unit Price	<u>Amount</u>
7	HMA Pavement Repair 6" Depth	-50 SY	\$35.00/SY	\$1,750.00
8	HMA Milling, 3" or less	+390 SY	\$3.00/SY	\$1,170.00
10	HMA 9.5M64 Surface	+37.17 tons	\$60.00/ton	\$2,230.20
П	Reset Inlet Type A w/ existing casting Construct Inlet Type A, using	-3 Units	\$300.00/Unit	\$900.00
13	new casting	+1 Unit	\$1,500.00/Unit	\$1,500.00
15	Reset Existing Casting (Standard Manhole)	-8 Units	\$100.00/Unit	\$800.00
16	Concrete Handicapped Ramp	-3 SY	\$100.00/SY	\$300.00
17	Detectable Warning Surface	+2 SF	\$35.00/SF	\$70.00
20	Traffic Marking Lines 24", Thermoplastic	+12 SF	\$23.00/SF	\$276.00
21	Traffic Stripes 4", Yellow	-418 LF	\$0.48/LF	\$200.64
22	Traffic Stripes 6", White	+272 LF	\$0.64/LF	\$174.08
24	Asphalt Price Adjustment	+5564.48 Dol	\$1.00 Dol	\$5,564.48
25	Fuel Price Adjustment	+2653.07 Dol	\$1.00 Dol	\$2,653.07
S1	12" HDPE Pipe	40 LF	\$130.00/LF	\$5,200.00
S2	Police Officers	1 LS	\$3,088.69	\$3,088.69
Amount of Original Contract Adjusted amount Based on Orders Final,,,	Change		Extra Supplemental Reduction Total Change	\$ 13,637.83 \$ 8,288.69 \$ 3,950.64 \$ 17,975.88
% Change in Contract			·	***************************************
[(+) Increase or (-) Decrease	+1.15 %	0		
(Engineer) (Presiding Officer)		Арг	(District Man (Bureau of Loc	
Jonathan Fisc	cher <u>2/8/2022</u>			

(Submit four (4) copies to the Local Aid District Office1

(Contractor)

(Date)

Project	River Road Improvements
Municipality	Long Hill Township
County	Morris
Contractor	Fischer Construction Inc

In accordance with the project Supplementary Specification, the following are changes in the contract.

Location and Reason for Change (Attach additional sheets if required)

Item No.	Description	Quantity (+/-)	Unit Price	<u>Amount</u>
7	HMA Pavement Repair 6" Depth	-50 SY	\$35.00/SY	\$1,750.00
8	HMA Milling, 3" or less	+390 SY	\$3.00/SY	\$1,170.00
10	HMA 9.5M64 Surface	+37.17 tons	\$60.00/ton	\$2,230.20
11	Reset Inlet Type A w/ existing casting	-3 Units	\$300.00/Unit	\$900.00
13	Construct Inlet Type A, using new casting	+1 Unit	\$1,500.00/Unit	\$1,500.00
15	Reset Existing Casting (Standard Manhole)	-8 Units	\$100.00/Unit	\$800.00
16	Concrete Handicapped Ramp	-3 SY	\$100.00/SY	\$300.00
17	Detectable Warning Surface Traffic Marking Lines 24",	+2 SF	\$35.00/SF	\$70.00
20	Thermoplastic	+12 SF	\$23.00/SF	\$276.00
21	Traffic Stripes 4", Yellow	-418 LF	\$0.48/LF	\$200.64
22	Traffic Stripes 6", White	+272 LF	\$0.64/LF	\$174.08
24	Asphalt Price Adjustment	+5564.48 Dol	\$1.00 Dol	\$5,564.48
25	Fuel Price Adjustment	+2653.07 Dol	\$1.00 Dol	\$2,653.07
SI	12" HDPE Pipe	40 LF	\$130.00/LF	\$5,200.00
S2	Police Officers	I LS	\$3,088.69	\$3,088.69
Amount of Original Contract Adjusted amount Based on Orders Final,,,	Change		Extra Supplemental Reduction Total Change	\$ 13,637.83 \$ 8,288.69 \$ 3,950.64 \$ 17,975.88
% Change in Contract				***************************************
[(+) Increase or (-) Decrease	e] <u>+1.15</u> %	b		
(Engineer)	(Date)	Λр	proved: (District Man	ager) (Date)
Presiding Officer	7/24/22		(Bureau of Loc	
Jonathan Fish	•			

(Submit four (4) copies to the Local Aid District Office1

(Contractor)

(Date)